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XA AT 4 £ = S Hi LA B [ 2 ¥ M 2 H & M
FEX 0.2 1.9 0.0 0.8 =0.9
144, 200 432,700 91, 000 253, 800 10, 500
23 23 15 15 1 39 39 1 1
A X -0.2 0.4 -0.8 0.0
114, 900 194, 600 85, 300 135, 200
16 16 8 8 3 27 27
IENES -2.0 -0.7 -1.4 -1.6
83, 900 127, 100 62, 800 91, 600
22 22 8 7 4 34 33
fiatiniEs -0.7 0.9 -1.0 -0.2 -0.9
114, 800 292, 400 74, 800 166, 600 10, 500
61 61 31 30 8 100 99 1 1
X 0.3 1.2 0.7
92, 100 191, 700 134, 400
23 23 17 16 40 39
HX 0.0 0.3 0.2 0.1
70, 900 98, 700 54, 000 76, 000
9 9 3 3 1 13 13
T -2.2 -2.7 0.9 -2.0 -1.1
52, 700 66, 100 33, 300 53, 200 920, 000
11 11 2 2 1 14 14 1 1
s -3.0 0.0 -0.5 -2.5
50, 500 81, 000 40, 800 52, 100
11 10 1 1 1 13 12
e -0.6 -0.9 -0.7 -1.1
34, 800 51, 700 40, 900 590, 500
7 7 4 4 11 11 2 2
EALK -0.3 0.0 -0.2
60, 800 85, 300 64, 300
6 6 1 1 7 7
K& X -2.1 -2.1 -2.1 -0.7
11, 300 26, 000 15, 300 27, 800
8 8 3 3 11 11 1 1
TRRA T 2T =0.9 0.2 0.2 0.6 -1.0
61, 200 133, 500 42,700 81, 200 532, 200
75 74 31 30 3 109 107 4 4
e -2.8 —2.2 0.4 —2.5 -3.6
83, 300 167, 700 52, 100 102, 200 530, 000
25 23 8 8 1 34 32 1 1
ETN A 0.8 0.0 0.6 0.6
54, 200 117, 700 71, 500 162, 000
8 8 3 3 11 11 1 1
G 0.1 0.7 0.2 0.0
106, 000 205, 000 134, 300 1, 200, 000
10 10 4 4 14 14 1 1
e -1.5 -1.0 =0.6 1.4 1.1
38, 700 72, 200 28, 600 43,100 4717, 500
26 26 5 5 2 33 33 2 2
G —2.0 -1.4 -1.6 -1.4
34, 200 91, 300 69, 900 143, 000
3 3 5 5 8 8 1 1
EXERE -1.4 2.4 0.6 -1.6 1.1
52, 100 61, 000 31, 500 53, 000 460, 000
11 11 4 4 1 16 16 1 1
EEN 1.1 -0.7 -1.2 -1.0 —2.2
64, 000 87, 400 39, 100 68, 000 360, 000
34 34 10 9 2 46 45 1 1
E 1 1 1.1 -1.3 1.0 -1.0 1.1
46, 800 63, 100 21, 200 49, 700 880, 000
18 18 6 6 1 25 25 1 1
e —2.5 5.4 —2.8
52, 400 57, 900 53, 100
15 15 2 2 17 17
B -1.7 =2.0 -3.3 -1.9 2.3
43, 200 67, 700 26, 500 50, 100 860, 000
12 12 6 6 1 19 19 1 1
WEFL 0.4 -0.3 -1.3 =0.5 -1.0
60, 600 76, 300 44, 400 63, 500 199, 000
16 16 5 5 1 22 22 1 1
TR 0. 1 0.8 1.9 0.0 -1.5
67, 500 95, 400 27, 400 66, 500 256, 000
10 10 1 1 1 12 12 1 1
I 1.1 —0.4 0.0 -0.8
39, 300 52, 300 35, 200 42, 200
8 8 3 3 1 12 12
TH —0.5 0.3 0.4
54, 900 91, 800 67, 200
2 2 1 1 3 3
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TEEF 0. 4 0.0 0. 2 -0. 3 0.8
75, 800 120, 000 41,100 76, 800 122, 000
8 8 1 1 1 1 10 10 1 1
0178 -1.2 -1.2 0. 4 1.1 =2.9
46, 900 80, 000 24, 100 48, 200 1, 010, 000
6 6 1 1 1 1 8 8 1 1
e -2.8 2.1 -2.6 —2.4
36, 400 59, 400 44,700 40, 000
7 7 4 4 11 11 1 1
T -2.6 =0.7 =2.2 —2.7
15, 400 26, 600 17, 600 360, 000
4 4 1 1 5 5 1 1
25 TThH 0.8 =2.2 -1.2
27,900 62, 000 36, 400
3 3 1 1 4 4
FEOES -0.9 -0. 2 =0.7
67,100 96, 000 75, 800
7 7 3 3 10 10
o BT -2.6 -3.2 —2.1 =2.7 -1.9
33,000 38, 600 19, 100 32, 600 1, 050, 000
3 3 2 2 1 1 6 6 1 1
B5 = -1.4 -1.3 -0.6 -1.3 -1.6
57, 200 91, 700 32, 700 64, 200 505, 100
236 234 76 75 14 14 326 323 17 17
Brmaiat -1.2 -0.5 —0.6 -1.0 -1.5
67, 500 146, 100 47, 400 86, 800 487, 600
372 369 138 135 25 25 535 529 22 22
W EHT 2.1 -2.0 2.1 -1.0
35, 500 63, 700 44,900 103, 000
2 2 1 1 3 3 1 1
T AT 0.8 -1.2 =0.9 1.7
25, 000 42, 400 30, 800 29, 500
2 2 1 1 3 3 1 1
[ —2.4 2.1
16, 200 16, 200
2 2 2 2
NG -3.8 -2.6 -3. 4
24, 800 53, 100 34, 200
2 2 1 1 3 3
A -3.1 =3.2 -3.1
28,100 48, 400 32, 200
4 4 1 1 5 5
B i ] 0.2 0.0 0.2 =2.0
95, 400 111, 000 98, 000 480, 000
5 5 1 1 6 6 1 1
1B 7KHT -0. 1 -1.5 -0.5
112, 900 133, 000 118, 000
3 3 1 1 4 4
Rl 0.4 0.7 0.5
107, 300 136, 000 113,100
4 4 1 1 5 5
JINLAT -1.3 -1.0 -1.3
34,900 50, 000 36, 800
7 7 1 1 8 8
T 0.8 6.5 =2.7
40, 400 30, 200 37, 000
2 2 1 1 3 3
JITFRAHT -2.3 0.0 -1.8
11, 400 27, 500 14, 600
4 4 1 1 5 5
Ry -1.5 0.8 -1.3
28, 800 39, 700 32, 400
2 2 1 1 3 3
DR -1.3 -1.6 -1.4 -1.6
51, 000 66, 800 54, 500 204, 200
39 39 11 11 50 50 3 3
P z -1.2 -0.6 -0.6 -1.0 -1.5
65, 900 140, 300 47, 400 84, 100 453, 600
411 408 149 146 25 25 585 579 25 25
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